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The Push-Pull.

Combine NPN and PNP single-ended amps.
Can we reach both rails?
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The Push-Pull.

Unlike the single-ended amp, it can sink or source current
and go to both rails.
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Diode Bias. )

A popular way to fix the offsets. Diodes produce
signals Vin + 0.7V and Vin - 0.7V.
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Diode Bias.

- Eliminates offset (provided the diode drop matches
the BJT junction voltage).

- Worsens loading (larger bias resistors help)

- Can't reach rail-to-rail (smaller bias resistors help)

- If impedance on Vin is removed, the last 2 problems
are fixed. But then we wouldn't need an amp at all!
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Diode Bias.
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Modeled on the example described on P.92 of Horowitz & Hill (2ed).
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Diode biased push-pull powers an 8Q) speaker.
Parameters based on H&H p.92 (2ed).
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Can negative feedback solve the issues with a push-pull?
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Push-pull controlled by op amp with negative feedback.
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